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1. Find all the zeros of the function. Do not sketch its graph.
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2. Find the domain, the x and y intercepts, symmetry, the asymptotes and an appropriate table

of values, then sketch the graph of y = f(x) = x2X 1
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Given f(x) = +/x~1and g(x) = x* - 1, find the following new functions and their domains.
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4. Find the vertex, the x and y intercepts, then sketch the graph of f(x) = 2x* - 2x - 4.
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6. Find if f(x) is even or odd. Find its intercepts, then find appropriate table of values to sketch

the graph of f(x) = x* - 42,
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7. Use shifts and reflections to graph f(x)=y=3- 2x 1 by first graphing the following functions:

y - 2x’ y = 2x—1’ y - _zx—1.

Also find the x and y intercepts and the equation of the asymptote of f(x). Show the

asymptote on the graph. - A
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Given f(x) = x* - 1, find:
(a)  f'(x), the inverse function of f(x).

the domain and the range for both f(x) and f'(x).
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(c)  Graph f(x) and '(x) on the same co-ordinate system.
(d)  Find (fof ")(x).

(e)  Find the axis of symmetry between f(x) and f'(x).
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Solve the equation logox +logo(x-2) = 3.
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10.  Given logg2 = 0.3, logg5=0.7, logg3 = 0.4, find Ioga[
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11.
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Solve the inequality !
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